ORDINANCE NO: 2022-34 INTRODUCED BY: HALE

AN ORDINANCE AUTHORIZING CHANGE ORDER #1 FOR THE 2021 ASPHALT PAVING PROGRAM AND DECLARING AN EMERGENCY (2nd Reading)

WHEREAS, pursuant to Ordinance 2021-34, Council authorized the Mayor to enter into a contract with Chagrin Valley Paving, Inc. for the 2021 Asphalt Paving Program ("Asphalt Program");

WHEREAS, the Village Engineer has indicated the need to revise the contract price for the Repair Program;

NOW, THEREFORE, BE IT ORDAINED by the Council of the Village of Bentleyville, County of Cuyahoga, State of Ohio, that:

- Section 1: Village Council, upon the recommendation of the Village Engineer, hereby approves the decrease of Six Thousand Sixty-Four Dollars and 51/100 (\$6,064.51) of the contract price as set forth in Change Order #1.
- Village Council hereby authorizes the Fiscal Officer to amend the contract amount with Chagrin Valley Paving, Inc. to Sixty-Nine Thousand Eight Hundred and Two Dollars and 11/100 (\$69,802.11).
- Section 3: It is found and determined that all formal actions of this Council concerning and relating to the adoption of this Ordinance were adopted in an open meeting of this Council and that all deliberations of this Council and any of its committees that resulted in such formal action were in meetings open to the public, in compliance with all legal requirements.
- Section 5. This Ordinance is hereby declared to be an emergency measure immediately necessary for the preservation of the public peace, health, or safety of the inhabitants of the Village and for the further reason that it is necessary to reconcile the final amounts.

Passed: September 31, 2022

Mayor

ORDINANCE NO: 2022-34 PAGE 2

I, the undersigned, Fiscal Officer of the Village of Bentleyville, hereby certify that there is no newspaper published or having an office of publication in the same Village and that I published the foregoing Ordinance by posting the same in five (5) of the most public places of said Village, as defined by Resolution of Council, for a period of fifteen (15) days, beginning the date following passage and signature by the Mayor.

Fiscal Officer

I, the undersigned, Fiscal Officer of the Village of Bentleyville, hereby certify that the foregoing is a true copy of Ordinance 2022-34 duly enacted by the Council of said Village on this 21st day of September, 2022.

Fiscal Officer



July 27, 2022

Mayor Leonard Spremulli Village of Bentleyville 6253 Chagrin River Rd. Bentleyville, Ohio 44022

Re: 2021 Asphalt Maintenance Program

Dear Mayor Spremulli:

Enclosed, please find Change Order 1 for the 2021 Asphalt Maintenance Program. This Change Order is for the contract close-out.

Please forward to Council for review and approval.

Sincerely,

Chagrin Valley Engineering, Ltd.

Jeffrey J. Filarski, P.E. Village Engineer

Enclosures

C: Charles Nemer, Law Director Ryan Klemm, Service Director Nickol Sell, Finance Manager

EXHIBIT A 2021 ASPHALT MAINTENANCE PROGRAM BENTLEYVILLE, OHIO

ITEM	DESCRIPTION	UNIT	CONTRACT QUANTITY	FINAL QUANTITY	UNIT PRICE	TOTAL PRICE		AMOUNT OVER (UNDER)	
1	ASPHALT PAVEMENT SURFACE TREATEMENT	ŞY	46,672	47,802.00	\$0.96	\$	45,889.92	\$	1,084.80
2	ODOT 253 FULL PAVEMENT REPAIR, TYPE 1	SY	204	176.64	\$123.50	\$	21,815.04	\$	(3,378.96)
3	ODOT 617 SHOULDER PREPARATION	SY	37	21.33	\$5.00	\$	106.65	\$	(78.35)
4	ODOT 617 COMPACTED AGGREGATE	CY	3	1.77	\$450.00	\$	796.50	\$	(666.00)
5	ODOT 642 EDGE LINE	MILES	0.08	0.00	\$9,000.00	\$	-	\$	(720.00)
6	INSPECTION ALLOWANCE FEE	LUMP	1	0.34	\$3,500.00	\$	1,194.00	\$	(2,306.00)

Final Construction Cost \$ 69,802.11 \$ (6,064.51)

Original Contract Cost \$ 75,866.62

Change Order #1 \$ (6,064.51)